,‘ Replaces Toro Greensmaster 3250-D

ﬁn Parts
S Traction Unit - Model 04383 & 04384
~ Hydrauilc Fuel Tank

—

9 '-a‘”:* 39 13

?'“

13 12 =

2 &
B —

2 43

8 49

pleg ™ ,

1 e & -
35 3 "E
J6

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster 3250-D

Hﬁn Parts
Traction Unit - Model 04383 & 04384

~ Hydrauilc Fuel Tank

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
Filters
105-0438, -
1 R107-9531 107-9531 Donaldson Oil Filter - Hyd 1
1 RRF10609 107-9531 SilverGuard Qil Filter 1
13170210, , -
1 R75-1310 251310 Baldwin Hyd Oil Filter 1
13170210, . -
1 RRF10623 751310 SilverGuard Oil Filter - Hyd 1
86-3000, .
2 R92-5821 92-5821 Filter - Head 1
139-1010, -
3 R93-2242 932242 Oil Filter & Head Assy - Hyd 1
Hoses
5 R106-1128 106-1128 Hose - Fuel - Tank to Valve 1
110-6186,
6 R110-6186 71-3383 Hose - Fuel 1

Tech Note: Fits Model 04384/12 up:

6 R56-2230 56-2230 Hose-Fuel 1

7 R110-3958 110-3958 Hose-Fuel 1
94-4517,

8 R94-9607 94-9607 Hose- Return 1

9 R94-4518 94-4518 Tube Assy 1

Gauges and Controls

10 R80-9330 80-9330 Alarm - Audio 1

Other Parts Available

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster 3250-D

Hﬁn Parts
Traction Unit - Model 04383 & 04384

~ Hydrauilc Fuel Tank

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
107-8844,
11 R237-22 237-22, O-Ring 1
237-78
12 R354-73 354-73 Fitting-Straight 2
237-81,
13 R237-81 237.81, O-Ring 3
327-81
14 R353-988 353-988 Plug - Hex 1
15 R237-79 237-79 O-Ring 1
16 R69-4320 69-4320 Hydraulic Fitting - 90 Deg 1

Tech Note: Fits Model 04383/2006 up:

237-42, .

17 R237-42 31-4160 O-Ring 1

18 R354-78 354-78 Connector-Hose 1

18 R150549 112-0211 Strainer Assy 1

Tech Note: Fits Model 04383/up to 2007:

237-146, .

19 R237-146 340-146 O-Ring 1
117-9531, .

20 R117-9531 93.2235 Tank - Hydraulic 1

21 R93-2437 93-2437 Plug - Serrated 1
58-9070,

22 R68-6150 63-6150 Breather 1
93-3103, .

23 R93-7160 93-7160 Cap - Hyd Oil w/Tether 1
33113-016,

24 R33113-016 18-7620 Bolt - Hex Washer M6-1.0 x 12 3

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster 3250-D

Hﬁn Parts
Traction Unit - Model 04383 & 04384

~ Hydrauilc Fuel Tank

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
3256-1,
3256-22,
25 R453023 3256-72, Washer - Flat 1/4 3
33094-00

Tech Note: Fits Model 04383:

26 R93-2275 93-2275 Screen - Filler 1
107-2172, :
27 R93-3102 93-3102 Fuel Cap - Diesel - Green 1

Tech Note: Fits Model 04383/2001-2007:

27 R115-5305 115-5305 Fuel Cap - Diesel 1

Tech Note: Fits Model 04383/09-11 & 04384:

114-4680, .
28 R114-4680 93-2275 Tank Assy - Diesel 1
2210-87,
2412-36,
29 R2412-36 31-9140, Clamp - Hose 1/2 2
93-5818,
99-0772
31 R112-0212 112-0212 Fitting - Fuel 1
Tech Note: Fits Model 04383/2007-201 & 04384:
2412-108, .
32 R2412-108 97406 Clamp - Worm - 1/4 - Stainless 1
33 R240-11 240-11 Bushing - Rubber - Flanged 7
34 R93-4637 93-4637 Washer - Flat 7
106-0276,
35 R48-7770 33115-020, Bolt - Hex HD M10 x 20 7
48-7770

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster 3250-D

Hﬁn Parts
Traction Unit - Model 04383 & 04384

~ Hydrauilc Fuel Tank

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

32104-32,
36 R32144-14 32104-49, Bolt - Hex Washer 5/16-18 x 5/8 4
32144-14

01-166-0400,
24-10-BD,
24-9-AD,
32-9650,
3256-2,
3256-23,
3256-3,
3256-67,
3290-217,
3556-3,
4-2390,
7-0152

37 R453009 Washer - Flat 5/16 SAE 2

Tech Note: Fits Model 04383:

39 R340-9 340-9 Fitting - Straight Connector 1

40 R237-58 237-58 O-Ring 1

41 R105-4309 105-4309 Plate-Filter 1

2412-129,
94-3188,
94-3189,
94-3193,
94-3203,
94-3204

43 R2412-129 Clamp - Worm 9/16-1 1/4 2

44 R105-9793-03 105-9793-03 Mount- Oil Filter 1

321-31,

321-5 Bolt - Hex HD 1/4-20 x 7/8 2

45 R321-5

01-150-1400,
20-5-AD,
30-8880,
321-6,
321-6,
3222-2,
513320,
Mar-97

45 RP147141 Bolt - Hex HD 1/4-20 x 1 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster 3250-D

ﬂﬁn Parts
Traction Unit - Model 04383 & 04384

~ Hydrauilc Fuel Tank

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

Tech Note: Fits Model 04383/04:

46 R353-783 353-783 Fitting - Straight 1

Tech Note: Fits Model 04384/12 up:

340-2, e .
47 R340-2 60-1920 Hydraulic Fitting - Striaght 1
Tech Note: Fits Model 04383/04&05:
67-7210,
48 R92-5753 92-5753 Clamp-Hose 1
49 R2412-41 2412-41 Clamp 1

Tech Note: Fits Model 04384/12 up:

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




